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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer any seven out of ten.

What is Surveying?

Define: (i) Back sight (ii) Fore sight

Define: (i) Line of sight (ii) Face right observation
Define: (i) Strike Line (ii) Trunion Axis

Define: (i) True dip (2) Apparent dip.

Define: (i) telescope normal (ii) telescope inverted
Define: (i) Axis of telescope (ii) Line of collimation.
Explain shortly process of centering the theodolite.

What is the purpose of traversing in surveying?
Define: (i) Datum (ii) Throw of fault

Expalin in brief tests of a Miner’s dial.
OR

Explain adjustment of Miner’s dial.

Explain swinging and transiting operation of theodolite..
OR

Explain Repetition method of theodolite.

Enumerate the aims of Subsidence measurement.
OR

Explain any one fast Needle method.

Describe various uses of theodolite in mine surveying.
OR
Write short note on sources of error in theodolite survey.

Differentiate between open traversing & close traversing.
OR
Draw a neat sketch of Miner’s dial and name its various parts.
Convert these W.C.B to R.B. (i) 45 (ii) 195 (iii) 135
OR
Convert this R.B to W.B.C (i) N25E (ii) S30E (iii) N60OW.
Draw a neat sketch of a Vernier theodolite and name its various parts.

OR
Differentiate between Repetition & Reiteration method.
Explain the procedure of depth measurement of vertical shaft.
OR
Write short note on Gyrotheodolite.
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Write general requirement of mine plan.
OR
Write short note on Role of Surveyor in Mining Industry.
Explain in brief any two method of balancing the traverse.
OR
Write precautions required during depth measurement of vertical shaft.
Expalin briefly permanent adjustment of .theodolite.

What is local attraction? How to detect local attraction.
Write applicability condition of loose needle survey.

List out the instrument required during depth measurement of a vertical shaft.

Write the procedure of marking center line in u/g roadway.
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